
 

)LJXUH ��� � 3DUWLHV UpHOOHV GX VLJQDO EDQGH GH EDVH DYDQW HW DSUqV ILOWUDJH GH 1\TXLVW�
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)LJXUH ��� � eYROXWLRQ GH OD SKDVH LGHQWLILpH SDU XQH ERXFOH GH &RVWDV G·RUGUH � � SRXU GLIIpUHQWHV YDOHXUV

GH PX�
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)LJXUH ��� � 'LIIpUHQFH HQWUH OD YUDL SKDVH HW OD SKDVH LGHQWLILpH SDU XQH ERXFOH GH &RVWDV G·RUGUH � � SRXU

GLIIpUHQWHV YDOHXUV GH PX�
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)LJXUH ��� � eFDUW HQWUH OD SKDVH WKpRULTXH HW OD SKDVH HVWLPpH SDU OD ERXFOH GH &RVWDV G·RUGUH �� SRXU

GLIIpUHQWHV YDOHXUV GHV SDUDPqWUHV�
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)LJXUH ��� � 5pFXSpUDWLRQ GH U\WKPH SRXU XQH HUUHXU VXU OD SpULRGH V\PEROH � GLIIpUHQFH HQWUH O·LQVWDQW

G·pFKDQWLOORQQDJH RSWLPDO HW O·LQVWDQW FDOFXOp� DX FRXUV GHV LWpUDWLRQV� SRXU GLIIpUHQWHV YDOHXUV GHV

SDUDPqWUHV�
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)LJXUH ��� � 5pFXSpUDWLRQ GH U\WKPH SRXU XQH HUUHXU VXU OD SpULRGH V\PEROH � HUUHXU TXDGUDWLTXH HQWUH OH

VLJQDO LQWHUSROp HW OD GpFLVLRQ� DX FRXUV GHV LWpUDWLRQV� SRXU GLIIpUHQWHV YDOHXUV GHV SDUDPqWUHV�
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)LJXUH ��� � 5pFXSpUDWLRQ GH U\WKPH SRXU XQ UHWDUG G·pFKDQWLOORQDJH � GLIIpUHQFH HQWUH O·LQVWDQW

G·pFKDQWLOORQDJH RSWLPDO HW O·LQVWDQW FDOFXOp� SRXU GLIIpUHQWHV YDOHXUV GHV SDUDPqWUHV�


